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Explain the meaning of cost accountancy and also explain advantages and [17]
limitation of cost accountancy.
OR
Write the difference between financial accountancy and cost accountancy. [07
Discuss the cost centre and cost unit. [10]
Write the difference between time wages and plece wages system. {10}
Write a short note on: 1. Time keeping wage system 2, Labour turnover {o8]
OR
The following information of Krishna Ltd, Find out: (18}
Re-order level, Minimum level, Maximum fevel and Danger level.
Maximum procurement time 55 days
Maximum time of emergency procurement 5 days
Average procurement time 50 days
Minimum daily consumption 1200 units
Average daily consumption 1500 units

Economic order quantity is 25% of re-order level
in the factory there are three production department A, B and C and two [17]
service departments M and N. The details about the expenses are as under:

Rent and rates 20000 Power 2400
Lighting 480 Contribution to ES! 650
Canteen expenses 1800  Salary of the factory manager 2400
insurance 1320  Depreciation 3300
Indirect wages 1300

You are supplied with the following additional information:
Particulars A B Cl M N
No. Of workers 10 12 08| 06! 04
Space occupied {sq. Yds) 300 200 250 | 150 | 100
Light points 6 5 4 3 2
Consumption of power on the basis | ~400 600 2000~ | -
of meter {Units)
Cost of machine {Rs.) 30000 | 20000 } 15000 | 500 | 500
Direct wages {Rs.) 2250 | 2000 | 1450 600§ 200
Proportion of time devoted by factory 5 5 4 1 1
manager

Show the distribution overheads.

If the benefit of service departments. M and N is derived by the production
department in the following proportions, show the final distribution of
overheads to production departments. '

Department A B C
Department M 25% | 35% | 40%
Department N 30% | 40% ; 30%
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A building contractor having under taken construction work at a contract price  {17]
of Rs. 500000 began the execution of the work on 1% Aprit 2021.

Machinery installed at site 30000
Material sent to site 170698
Labour at sit 148750
Direct expenses 6334
Overhead charges allocated 8252
Materials return from the site 1098
Work certified by architect 350000
Cash received 360000
Cost of work not yet certified 9000
Materials on hand As on 31-03-2022 3766
Wages accrued on 31-03-2022 5380
Value of machinery as on 31-03-2022 22000

2/3 of the profit of the contract on the basis of cash received is to be

transferred to profit and loss account. Prepare contract account,

From the following information extracted from the record of a factory relating [18]

to a commodity, prepare the cost sheet.
Purchase of raw material
Carriage inward
Direct wages
Machine hour worked
Machine hour rate
Opening stock of raw material

Opening stock of finished goods {4000 units)

Closing stock of raw material
Closing sock of finished stock
Opening work in progress
Closing work in progress
Office overheads
Selling and distribution expenses
Sales
Production during the year
OR

Give reasons for the disagreement of cost accounts and financial accounts.

Write short note on ;

1. Normal wastage and abnormal wastage

2. Joint product and by product

115000

4000

96000

10000 hours
Rs. 4 per hour
25000

40000

20000

5000 units

Rs. 5000

Rs. 15000

4% of work cost
Rs. 1 per unit
300000
26000 units
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